Math 115 - Quiz 2

February 8, 2013

Problem 1 (! points): Let
Fla) { (22 -4)/(x+2) ifa# -2
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For what value of & will f be eontinnous on (— o0, o)
Problem 2 {4 poiuts): Under a set of comrolled laaboratory conditions, the
size of the population of n certain bacteria enlture at time #, in minutes, is
described by the funetion
P=fity=32+2t + 1
Find the rate of popnlation growth at 1 — 10 minutes.

I) [f m (_~___) lm\M(’C’?—) lllﬂ‘z ([X“?)-?“L/

X$-2 (x+1) ~w»-2 X 7=

h’:"‘j

z) £'llo=§t tL
£l)=6(10) +2 =62



Problem 3 (2 points): Prove
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Hint: Set S{ry = flr)+ glr). Take the lnuit definition of the derivative of
S{r) and then swap f(x) + glr) = S(:) back in for S{X). From there, use the
properties of Hinits to get what you're looking for.

Bonus (2 points): Use the Intermediate Vahie Theorem to show that there
exists oo munber ¢ in the givew interval such that f{ry = M. Then find its value,
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f(x)=a*x+1on [-1.4]; M =1
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Math 115 - Quiz 5

March 27, 2013

Problem 1

{2} Ou the following graph, which of the following points are relative extrema?
\ 4 k& i botilaha il
(1 point per correct, -(L5 per wrong, 3 points total)
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(b) Draw the sign dingram for 7.
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Problem 2 Determine the regions whers the graphof f{x) = 2% — 22 — 5 + 8
ts concave npward, concave downward, Increasing, and decreasing,
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Math 115 - Quiz 6

Problem 1 Solve for ».
(&) 3= 1/9%

Problem 2 Staplifv.
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April 4, 2013
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Math 115 - Quiz 7

April 12, 2013

Problem (2 points each) Find the derivative of the following functions:

(a) flz) = (b) g{x) = 3¢e*
(c) hiz) = ln (125 +1) (d)

(€  U=z)=In[(z+1)(*+2)]

k(z) = z* In(z)

Bonus problem (5 points) Use logarithmic differentiation to find the derivative

of the following:
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Math 115 - Quiz

April 26, 2013

Problem 1 (5 points) Phosphorus 32 (P-32) has a half-life of 14.2 days.
Jg of this substance are present initially, find the amount present after ¢ days.

10(

What will be left after 7.1 days?

Problem 2 (5 points) Find the indefinite integral:
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Bonus problem (5 points) Find an approximation of the area of the region un-

der the graph of f(x)
as the representative heights:

) by computing the Riemann sum. Use the given midpoints
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Math 115 - Quiz 9

May 3, 2013

Problem 1 {5 points) Find the following indefinite integrals:
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Problem 2 (5 points) Find the value of the following definite integrals:

(a) (b)
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Bonus problem (5 points) Evaluate using u-substitution:
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